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QUESTION 1

Which ADM phase is responsible for assessing the performance of the architecture and making recommendations for
change? 

A. Phase A 

B. Phase E 

C. Phase F 

D. Phase G 

E. Phase H 

Correct Answer: E 

 

QUESTION 2

Which one of the following best describes the purpose of the Communications Plan? 

A. To ensure that architecture information is communicated to the right stakeholders at the right time 

B. To evangelize the architecture to the end user community 

C. To keep the Architecture Review Board informed of changes to the architecture 

D. To ensure that the outcomes of a Compliance Assessment are distributed to the members of the Architecture Review
Board 

Correct Answer: A 

 

QUESTION 3

Which one of the following does TOGAF state is an objective for Phase A: Architecture Vision? 

A. To create an implementation and migration strategy 

B. To establish an architecture change management process 

C. To priorities work packages and projects 

D. To validate the business principles, goals, drivers and key performance indicators 

Correct Answer: D 

 

 

QUESTION 4
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Complete the sentence. A server consolidation project that does not change the operating characteristics of the
applications would require _____. 

A. a complete ADM cycle 

B. a complete re-architecting change 

C. a full revision of the enterprise architecture 

D. an incremental change 

E. a simplification change 

Correct Answer: E 

 

QUESTION 5

Complete the sentence. According to the TOGAF document, a ___________ is a representation of a system from the
perspective of a related set of _______________. 

A. viewpoint, views 

B. viewpoint, stakeholders 

C. view, concerns 

D. view, stakeholders 

E. view, requirements 

Correct Answer: C 
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